
 

第十八章 “it”句型（先行 it;强调 it）习题 

 

Choose the best answer from the four choices marked A, B, C and D. 

1. It was not until he had arrived at home________ his appointment with the doctor. 

A. when remembered                     B. did he remember     

C. that he remembered                   D. and he remembered 

2. _________ she first heard of the woman referred to as an economist. 

A. That was from Harris                   B. It was Harris whom    

C. It was Harris that                      D. It was from Harris that 

3. The candidate spoke confidently, _________ impressed me most. 

A.so that     B.it     C. that     D. which 

4.______ African elephants are more difficult to tame than Asian ones. 

A. It is generally believed that         B. That it is generally believed that     

C. The general belief that            D. Generally believing that 

5.The back garden of our house is a beautiful lawn, ______ very pleasant to sit on in 

summer. 

A.it is       B. where it is       C. which it is       D. which is 

6.______ has been stated before, metals have many good properties. 

A. It       B. Which       C. That       D. As 

7.________ evidence that language-acquiring ability must be stimulated. 

A. There is       B. It is       C. It being       D. There being 

8._________ that there was no time to lost. 



A. It occurred to me             B. It was occurred to me     

C. As was occurred to me        D. What was occurred to me 

9.________ with great difficulty that he persuaded his superior into accepting his plan. 

A. It was       B. There was       C. As       D. What 

10.________a common theme in many science-fiction stories that the world may one day 

be taken over by insects. 

A. Being       B. Having       C. It being       D. It is 

11. He has been to Italy, but _______ that he understands the Italians. 

A. it follows       B. it doesn’t follow       C. it is followed       D. it isn’t followed 


